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First 15 minutes are allotted for the candidates to read the question paper.
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Instructions :

i) All questions arc compulsory.
i) This question paper has two Parts -%art-.d and Part-B
t
questions of one mﬂfk cach tha

iifj  Part-A consists of 20 multiple cho%

answered on OMR Answer Sheect Eyodarkening completely the correct circle with
blue or black ballpoint pen. W0 ' .
For Part-A read the question-wise instructions and mark your answer on the given
OMR Answer Sheet only. Do not erase, cut or use whitener on the OMR Answer

have to be

iv)

Sheet after answering.

Marks of the questions are mentioned against i:hcm- _
vi)  Part-B consists of descriptive type questions of 50 marks. There are Descriptive-I,
Descriptive-II and two map related questions in this part.

All the questions of Part-B are to be attempted all at a time.

vii)

viii) Start from the first question and go up to the last question. Do not waste your
time on the question you cannot sa@. | '

ix)  Attach firmly the supplied maps in§ur answer-book.

x) For visually impaired examinees Iré‘fif:stia:)n Nos. 9(A} and 9(B) have bcct‘l given

separately for writing answers in li%of map work.l
gug - A

PART-A
(agﬁamﬁzrm)
( Multiple Chojy Type Questions ) -
firder : H fow Mo WAl % Wk 9 % O fawed Ry v €1 Wd faeew e @ OMR I TE

w fafga =t .

Instruction : Four alternatives are 'givcn for each of the following questions. Choose the

correct alternative and mar]{pp OMR answer sheet :

1. ﬁnﬁ%ﬁﬁﬁmﬁweaéaﬁz&aﬁzﬁﬁw mfﬂ%mmamg(maﬁ
&1 AfrmE) 1 A R ar 2 M
a) MEwedt EﬁB) _
) A ' o) e 1
| @
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Who among the following led the 'Expedition of the Thousand' towards South Italy
in 1860 A.D, ?

I (x)
(A) Garibaldi {1 Cavour
(C) Mazzini "@] Bismarck 1

1032 %o 3 1 ¥ R Q ol & iih:i:gan )

(A)  wErn M 3l wEr aguad REO

(B) W M) AR FEvEETE Igw

(C) VTR Ag® 3N U Ha L)

(D) TETE e 3k o i T e | !

Poona Pact was signed between which two leaders in 1932 A.D. ?
(A) Mahatma Gandhi and Sardar Vallabhbhai Patel

(B} Mahatma Gandhi and Jawaharlal Nehru

{C) Jawaharlal Nehru and Subhash Chandra Bose

(D) Mahatma Gandhi and Dr. Bhi@m Ramji Ambedkar 1
mﬁmaﬂtmwﬁ%aﬁ@wm@maﬁmmmm%lﬁm
I Y A AR ? o %

(A) W= TR ‘®) iR |

(C) W TER D) SfmEwR | 1

Apart from the central and state governments, a third level of government also

works in Belgium. By what name is it known ?

(A) Provincial government ({%} Local government

(C) Community government (D) Regional government |

e ITEd gorelt ° wifwdl o fauwe Prefaflse i @ s s da g 2

(A) W= 3T (B) SRy 3R FruTRm

(C) =ty s =i (D) Frwfee i 1
()

In the federal system of governmernt, powers are divided between which of the

]

following ? Y

(A) Centre and States ﬁft’:) Legislature and Executive

(C) Legislature and Judiciary D) Ekccu}ivc and Judiciary 1
D
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S.

aften s st Qﬂﬂﬂmmmmﬁmﬁﬁﬁmﬁ*mﬁﬁﬂﬁ
wlawma #idi w mem fem smm 2 ()

€
(A) 50 Cy 30

1
(C) 23 f@)] 33 | :

What percentage of seats will be $dserved for women in Lok Sabha and State

Assemblies by the Women's Reservation Act, 2023 ?
(A) 50 (B) 30 | | o
) 23 | ('R:)) 33 o L

Prerfefy # @ FR-9 Tt @ S e R E 2

(A) e (B) ufw wgw
(©) g " o i A wf 1
Which of the following is/ are the nfajor component(s) of & political party
"(A) Leader | E}P) Active members
(C) Followers ‘é-}b] All of them | 1
=qfe it afon F ATt # R w1 SgEn 9 Tl Terifos sgewen fmfafee | @
#-HE? o | |
() wRA o (B) ik
© wE Gy v o

Which of the following is a political system that promotes dignity of the indjvidual
and equality among citizens ? '

(A) Monarchy (B} Democracy
. . G
(C) Dictatorship C,,CD] None of these 1
form it 3 201 T N T A T g B e et 2
M :
A) Ufw H |ty ‘@3} fygm & At
() wufmdEy (D) FEGAGAA £ wfy 1
: ()

5015



5 825(CU)

8. By which treaty was Greece recognized as an independent nation ?

(A) Treaty of Paris d?) Treaty of Vienna

(C) Treaty of Versailles ({0} Treaty of Constantinople 1
0. e e ) frm oy A R Rafig i o 2

(A)  wiET i %) Hithaarg Jesl

(C) =T MR (D) T U 1
9. Who painted the famous image of Bharat Mata ? |

(A) Rabindranath Tagore d?) Bankim Chandra Chatterjee

(C) Abanindranath Tagore (D) Raja Ravi Varma 1
10. 1920 4 %W & frw arfdwm § sream wriwn i wief fief ?

(A) HU HAfEE (B) g AftEwA

€ fegft wftemm (D) TR AT 1
10. In which session of Congress inE}QQO was the non-cooperation programme

approved ? o % |

(A) Karachi session - (0B) Madras session

(C) Delhi session &I?D) Nagpur session . 1
11, ‘Siee T i@ I esTE w9 g ? | |

(A) 1971 (B) 1973

(C) 1985 , ' - (D} 1911 : . " 1
11. When was the ‘Project Tiger’ started ?) '

(A) 1971 (B) 1973

(©) 1985 D) 1911 1
12. Refdlufmaiwande |

(A) e ¢y wrfreft .

(€ = : o) e 1
12. On which river has the Tehri dam I%%n built ?

(A) Narmada E@} Bhagirathi

(C) Kosi - (D)  Krishna ' 1

@
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82s5(cu)

6
13.  frafafes § @ S-f o R omme % arta o R 2
@) 8)) M
o
(C) == (;'ﬁg CIEG!
13.  Which of the following crops comes ufider coarse grains ?
o
(A) Barley (B) Wheat
{C) Bajra (D) Rice

14, ﬁqﬁi‘f@ﬁﬁﬁﬂﬁ?-ﬁ'@ﬁﬁ&iﬂ%ﬁ%m

(A) W= (B) dg AT
() = : (D) T
14. Which of the following minerals is non-metallic ?
(A) Mica (&) Ironore
(C) Gold , {E)ﬁ' Bauxite
15. Prafufea ﬁﬁﬁwmﬁﬁaﬁx-’m%ﬁ*
(A)  ®RIEN @ e
(C) A F (D) WEHfow g
15. Which of the following energy sources is non-conventional ?
(A) Coal : (@) Petroleum
(C) Wind ene'rgy : (D) - Natural gas

16. frefafaa § @ fras 1 efeaeen & fidas &9% & swwia amar 2 2

(&) TR : B) T
G)
(C) T (D) HYAT
i
16. Whose work of the following comes upder the secondary sector of economy ?
(A) Potter . (@ Teacher
(C) Farmer (D) Fisherman
@

5015



17.

17.

18.

18.

19.

19,

20.

20,

7 825(CU)
%ﬁmmw, 2016 % AN Refafyg § § -m 20 Proa e ur ?

(A) <SRy By o
. 3
€) wra ((ﬁh arer 1
N

Which of the fcliuwing countries

at the lowest level according to Human
Development Index, 2016 of the worli> : .

(A) Bangladesh

(B) Srilanka
© India (D) Nepal 1
mﬁammﬁﬁﬂwaa@mga
(a) FEr | ® wewm |
© | O e 1
In which of the following states is th%s the highest infant mortahty ratc 2
(A)  Bihar ‘ GS%‘ Madhya Pradesh |
(C) Kerala | fgg Haryana | 1
ﬁmmmmﬁﬁ'%ﬂmﬁ%ﬂw% ?
(A B P
©) fuftrm =t ‘ D) ufrs b | 1
On Wthh of the followmg has fallen an adverse effect of Globalization ?
(A) Wealthy class . ‘ @ Skilled class’
(C) -Educated -class (D) Labour class ° | 1
T T T ARHR (STAE) T LI ?
(A) 1991 {B) 2001 |
(C) 2005 f?i 1998 | 1
When was the Right to Information @%ﬂ implemented ?
(A) 1991 Eﬁ 2001 1
(D) 1998
© 200 ' e [ Turn over
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g - § :
PART - B |
0o |
(s - 1)
Qo
{ Descxiptive - 1)

o
( P el & IR TR ST 80 Y=l | Fig )

{ Write answers of the following questions in about 80 words each. )

1. 3ITWETE | Y 11 O 2 ? 36 wgEAdwanaii w1 vl w=U | 1+3
Foan |
sferataten 7T gaTENE W U diyw feupft fafaw; | | ' 4
1. W;'Jhat do you understand by Liberalism ? Describe its main characteristics. 1+3 |
GOR
, . )
Write a short note on Jallianwala Bagh massacre. 4
2. mﬁmwmﬁ?ﬂw%mmaﬁﬁmﬁm%? | 249
- '
| ¥
it gfaue § udftaa @ aafid $59-8 yave e € 2 ' 4
2.  What do you understand by Democracy ? Why is it better than other systems of | S.

governance ? 242
o |

What provisions related to secularism are made in the Constitution of Iﬁdia ? 4|

. | 6.
3. S % qONUE W N-weRrE w3 g fift : 4
: al)!l A | :
iﬁﬁﬂgﬂ#ﬁﬂtﬂﬂﬁwﬁﬁaﬁmﬁaﬁa@ﬁﬁmiﬁmmﬁﬁq 4
3. Distinguish between conventional a@ non-conventional sources of energy. 4 6.

e
Analyse the physiographic factors affecting the distribution of rail transport.

5015 | D 150
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wmﬁw“ﬁw%?wmh@aﬂmmmﬁﬁl 4
. o
T & =i IR w6 gﬁq?w i 4
O
What has been the effect of Globalization in India ? Throw light on any four points.
4
OR
Compare the formal and informal sou@s of credit. 4
( Iv==E - 11 )
( Descriptive - II )
(ﬁwnﬁ%muﬁa?zt_?qn_lso Y= 4 e )
( Write answers of the following ql.El%tions in about 150 words each. )
ﬁmaﬁqm?mi:m%q_wguﬁ%ﬂmhﬁﬁm 2+ 4
O ,
Hgar
Tl S e 6 Fimis W uw wii fay R 6
Who was Napoleon ? Describe the reforms made by him. 2+4
Write a short essay'on the limitations of Civil Disobedience Movement. 6
Y Ak s § g i anedt % fafqy v @ fiwm aifm
| HYgar
| : .
et Terifa # sfa <6yt ﬁﬂ?-r%rﬁm 6
. o) _
Discuss the various forms of power sfgging in modern democratic systems. 6
. . ‘s ' 6
Discuss the role of caste in Indian politics. .
- @
o [ Turn over
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7. y-wmu B qfonfia R T WA § y-gedn sEw R e Hi 244
(o
T ¥ o Wl A S e o i e 1w Hife wd 3ah WA & B @
SLLE 1] Eg 2+4
7. Define land resources and analyse th(t‘ﬂand use pattern in India. 2+4
OR .
'Water scarcity is a grave problem in some parts of India.' Analyse and suggest any
four measures for its solution. ) 2+4
8. e srferaen ¥ gt S i F-w it i § 2 79 &9 $ 960 HE 6
gritan Hifom) 2+4
_HYAT :
I iR g feoqdht fafam) o . 6
8.  Which activities are included in the térdiary sector of Indian economy ? Analyse the |
increasing importance of this sector. % 2+4
& - |
Write notes on Consumer Rights, (O : 6
( wrAfas W= w9 )

( Map Related Questions)
W : we gEm 9(A) T 9(B) e & weiftra &)
Instmcnon Question Nos. ﬂ A) and 9(B) are related to map.
9(A). ﬁqﬁ-ﬁ@awﬁaﬁ W%ﬁiﬂﬁi‘mqﬂﬁaﬁ ® ﬁamwaﬁeﬁmm—@mw
¥ o faw 3, 1 o i

i) aﬁﬁmﬁﬂﬁﬁﬁ@?ﬁﬂﬂﬁﬂﬁfﬁmﬁmaﬁﬁaﬁgmml 141
ii) %mmaﬁﬁaﬂﬁaﬁ%mmn 141
iij) I8 WM el fewey, 1920ﬁﬁ&dﬁraﬁ%mgm | 1+
iv) %memm@mmgmm 1+
V) TR A T RHE F aftdm i ol s’ ) w7 g e, 1+

D
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9(A). In the given outline map of India, locate the following places by the symbol © with

i) The place where the movcm&}it of Indigo Farmers took place. % + %
i1) The place where cotton mill(_mg)rkcrs held Satyagraha. 34 3
i} The place where the Congress'session was held in December, 1920.  1+1
iv)  The place where the Civil.Disobcdien.ce Movement started first. 715 + %
V) The place where 'Purna Swarajya' was demanded in the Co_ngrcss session,
i*3
o(B). Fret : 2 i s % Ve s SR e
) T A W afa o~ fag g 1+4
) TR 6 T T ke @ frg g 3t3
ifi)  isen T<ng AW TR A Frg g i+4
iv) ﬁzmmmaﬁao%ml, 3+
v o doh ek /XN R . 144
9(B). Instruction : Show the following ofthe given outline map of India :
i) The river Tapt.i with name hysign 7~ 1+3
ii) The capital of Rajasthan Wit&? name by sign P 1+ %
i)  The port Kandla with name by sign A 1+
iv]  Corbett National Park with name by sign @ 143
V) The Aravali Range with'name b}f sign XN\ | ‘I5 + %
( et gl wétenfirat o e v o & e & WO § )
( Only for visually impaired examinees in lieu o_f Map work )
o). Frdw: frafales gl & IR 39 sw-gfEmm § fafa AtaE %1 W@ 1 iy
i) %Hmmﬁaﬁ@?ﬁmmﬁ)mimmgmmo 1
i) uﬁﬁaaﬁaﬁ%ﬁ’fﬂmﬁ&m*ﬂ? !
i) 5 wm W femmr, 1920ﬁ%%ﬂ$1 mﬁﬁmgm 21 - SN 1
iv) %memmm@mmm@m 1
v T wm e & i ¥ gl e ) i o 6 o 7 .

5015

names. For correct mention of name and marking of location %. -; marks have been
allotted. ()

D
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9(A).

12
Instruction : Write the answers of the following questions in your answer-book,
Do not use map.

i) Where did the movement of lndi@‘armcrs take place ? 1
i)  Where did Cotton Mill workers héﬂd their Satyagraha movement ? . 1
ii)  Where was the session of Congré'@ held in December, 1920 ? ' 1
iv) Where did the Civil DlsobcdlenCﬂ Movement start first ? 1
v) Where was the demand for Purna Swarajya' first made in the Congress

session ? , : ' 1

B T : P sl % s e e~y i Ry e o s 7 Ay

9(B).

i) At T R T freh 2 o 1
ii) Tlﬁiﬁ:nﬁﬁﬂﬁwmm%‘? - | | 1
iii) m’mmmﬁm;-aﬁm@m%? | 1
iv) m‘hﬂzuﬁamwﬁ‘é? 8 - | ' 1
). el AR wa R o Ny ] Y

Instruction: Write answers of the @owing questions in your answer-book.
Do not use the map. (O

i} In which sea does the river 'i‘apti fall ? ' 1

ii) What is the name of the capital of Rajasthan ? _ - 1

il  On which coast of India is the port Kandla situated ? 1

iv)] ~ Where is the Corbett National Paff)? 1

V) Where is the Aravali Range ? ' : 1
— e
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